
https://www.youtube.com/watch?v=R2r-iRLDo-Q
https://www.youtube.com/watch?v=H5pP2aWGFyM




The	tooth	is	composed	of	dental	pulp	in	the	center,	followed	by,	in	turn,	a	layer	of	dentin	
and	a	layer	of	enamel.
Enamel	is	the	hardest	layer	of	the	tooth	and	indeed	the	hardest	tissue	of	the	whole	body	–	
it’s	harder	than	bone!	Enamel	doesn’t	grow	–	when	we	lose	it,	it’s	for	ever	–	it	won’t	grow	
back!	The	hardness	of	the	enamel	allows	teeth	to	fulfil	their	function	–	breaking	food	into	
smaller	pieces.	Enamel	is	both	rigid	and	fragile	–	it	breaks	off	more	easily	than	it	wipes	
off.

Dentin	is	a	tissue	that	transfers	external	biting	loads	from	the	enamel.	It	is	less	
mineralized	than	enamel,	and	softer	and	more	flexible.	It	has	a	non-uniform	surface	and	
contains	channels	(dentinal	tubules)	enabling	stimuli	to	be	sensed.	Dentin	is	very	sensitive	
–	it	reacts	with	pain	to	changes	in	temperature.	It	has	the	ability	to	repair	itself	thanks	to	
the	presence	of	the	dental	pulp	(dentin	grows	inwards	towards	the	center	of	the	tooth).

Dental	pulp	–	possesses	nerves	with	endings	that	link	to	the	dentinal	tubules.	These	nerves	
enable	teeth	to	feel.	The	pulp	rebuilds	dentin	in	the	event	of	caries	and	nourishes	the	
tooth.	It’s	very	soft	–	it	resembles	jelly.

Root	–	the	root	of	the	tooth	lies	firmly	in	a	socket	(alveolus)	and	is	covered	with	cement	
(cementum)	–	a	hard	tooth	tissue,	but	less	mineralized	than	dentin.

Answers	–	objects	that	resemble	different	tooth	layers:
enamel	–	cup/ceramic	tile
dentin	–	sponge
pulp	–	jelly	beans


